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Gfful/s j8fkq 

ljefu÷dxfzfvf M /fhZj ljefu 
u'gf;f] ;'Gg] clwsf/L M ljefuLo k|d'v 
;Dk{s clwsf/L M pklgb]{zs  
 

qm=; ;]jf cfjZos sfuhftx? ;]jf z'Ns tyf b:t'/ /sd ?k}of nfUg] ;do lhDd]jf/ JolQm 

1 xf]l8{Ë af]8{ :jLs[lt 
 

1= Joxf]/f v'n]sf] lgj]bg 
2= lgj]bs ;+3 ;+:yf eP ;f]sf] 

btf{ k|df0fkq, k|aGwkq 
lgodfjnL, s/ btf{ k|df0fkq, 
s/ r'Qmf k|df0fkq 

3= xf]l8{Ë af]8{ /fVg] :yfg axfndf 
lng] eP axfn ;Demf}tfsf] 
k|ltlnlk 

4= xf]l8{Ë af]8{ /flvg] k|:tfljt 
:yfg b]lvg] tl:j/x? 

k|lt :jfo/ lkm6 ?=!,))) 
a9Ldf !% 
lbg leq 

ljefuLo k|d'v 

2 
;DklQ s/ 5'6 
-;fdflhs ;+3 
;+:yfnfO{ dfq_ 

1= ;DklQ s/ 5'6 dfu ug]{ 
;+:yfsf] Joxf]/f v'n]sf] lgj]bg 

2= ;DalGwt j8f sfof{nosf] 
l;kmfl/;kq 

3= lgj]bs ;+:yfsf] ;+rfns 

lgMz'Ns () lbg leq ljefuLo k|d'v 



qm=; ;]jf cfjZos sfuhftx? ;]jf z'Ns tyf b:t'/ /sd ?k}of nfUg] ;do lhDd]jf/ JolQm 

;ldltsf] lg0f{o 
4= lgj]bs ;+:yfsf] ;DklQ 

Jofj;flos sfo{df k|of]u 
gul/Psf] k|dfl0f x'g] sfuhft 

5= s/ r'Qmf÷5'6 k|df0fkq 
 

 


